

			Vendor Ranking		Page 1 of 1
Letting:	04210402	April 02, 2021 10:30 AM	Call Order: 001	Contract:	E4V11-R0
District:	District 4		Counties: BROWARD	Fed Aid No	b: N/A
Contract Time:	365 CALEN	DAR DAYS		Project(s):	23393387201 (*)
Contract Desc:	BROWARD	COUNTY MOWING PRIMAR	Y - ROUTINE MAINTENANCE		

Percent Of Bid Type Bid Status Total Bid Rank Vendor Low Bid 1 T & M LAWN-FENCE SERVICE INC Responsive Winning bid \$247,524.00 100.00% 2 SUPERIOR LANDSCAPING & LAWN SE Responsive Non-Winning Bid \$296,300.00 119.71% 3 KNIGHT PROPERTY MANAGEMENT SERVICE, Non-Winning Bid \$313,905.00 Responsive 126.82% INC.

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:	BEGIN DATE:	04/20/21	BEGIN TIME:	10:30 AM
	END DATE:	04/23/21	END TIME:	10:30 AM

NOTE: The award amount and contract performance bond shall be based on the budget amount of \$300,000.00 and not the contractors bid. There is no guarantee of minimum or maximum amount to be issued under this contract.



04/02/2021

Tabulation of Bids

Page 1 of 3

Letting:	04210402	April 02, 2021	Call Order:	001	Contract:	E4V11-R0
District:	District 4		Counties:	BROWARD	Fed Aid No	: N/A
Contract Time:	365 CALEND	AR DAYS			Project(s):	23393387201 (*)

Contract Descr: BROWARD COUNTY MOWING PRIMARY - ROUTINE MAINTENANCE

The work within this contract consists of providing labor, equipment, materials and incidentals necessary for Roadside mowing, edging & sweeping, and removal & disposal of litter from curb-and-gutter, sidewalk, and various designated areas along select State Highway system throughout Broward County.

MAXIMUM LIMITING: The award amount and the contract performance bond shall be based on the maximum limiting budgeted amount of \$300,000.00 and not the Contractor's bid total.

PERFORMANCE BOND: A Contract / Performance bond is required for this project

Line No / Item ID Alternate Item Description		rnate Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) SUPERIOR LANDSCAPING & LAWN SE		(3) KNIGHT PROPERTY MANAGEMENT SERVICE, INC.	
() in	dicates item is bid as Lump	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(SMALL MACH	INE MOWING (AC					
0005 MOWIN MACHI		900.000 R/LARGE AC	70.00000	63,000.00	44.00000	39,600.00	24.63000	22,167.00
0010 MOWIN	E104 4 2 NG (SLOPE)	600.000 AC	10.00000	6,000.00	88.00000	52,800.00	48.84000	29,304.00
0015 MOWIN	E104 4 3 NG (SMALL MACHINE)	1,400.000 AC	70.00000	98,000.00	61.50000	86,100.00	124.63000	174,482.00
0020 LITTER	E110 30 REMOVAL	2,400.000 AC	0.01000	24.00	17.00000	40,800.00	24.63000	59,112.00
0025 EDGIN	E110 32 2 G	3,500.000 MI	23.00000	80,500.00	22.00000	77,000.00	8.24000	28,840.00

FDUI

Tabulation	of Bids
i all all all all all all all all all al	0. 2.40

Page 2 of 3

Letting:	04210402	April 02, 2021	Ca	II Order: 001		Contract:	E4V11-R0	
Line No / It Item Desci		ate Quantity Units	(1) T & M LA SERVIO		• •	LANDSCAPING WN SE		IT PROPERTY NT SERVICE, INC.
	item is bid as Lump Sur		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	TION: 0001	(SMALL MACH	INE MOWING (AC					
000	SMALL MACHINE MOWING (AC)			\$247,524.00		\$296,300.00		\$313,905.00

Contract Grand Totals:	\$247,524.00	\$296,300.00	313,905.00

57
157
y

			Tabulation of Bids			Page 3 of 3
Letting:	04210402	April 02, 2021	Call Order: 001	Contract:	E4V11-R0	
		NOTE: Failui	re to file a protest within the time pre	scribed in section		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.